

Letting:

Florida Department of Transportation

09/17/2025

Page 1 of 1

Vendor Ranking

Call Order: 004 Contract: E8W52-R0

PM

September 09, 2025 02:30

District: Turnpike Counties: BROWARD, MIAMI-DADE, Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS PALM BEACH, TURNPIKE Project(s): 44888617203 (*)

Contract Desc: Pavement Edge Silt Removal - Zone 1

08250909

Rank	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	SUN EAGLE GENERAL CONSTRUCTION	Responsive	Winning bid	\$402,800.00	100.00% Inter
2	MIDWESTERN CONSTRUCTION, INC	Responsive	Non-Winning Bid	\$485,500.00	120.53%
3	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$528,455.00	131.20%
4	T & M LAWN-FENCE SERVICE INC	Responsive	Non-Winning Bid	\$588,000.00	145.98%
	FLORIDA BLACKTOP, INC.	Non Responsive	Non-Winning Bid		
	C &T PRESSURE CLEANING	Non Responsive	Non-Winning Bid		

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

POSTING DATE AND TIME: SEPTEMBER 23, 2025 AT 4:00 PM



Florida Department of Transportation



Tabulation of Bids

Page 1 of 3

Letting: 08250909 September 09, 2025 **Call Order:** 004 **Contract:** E8W52-R0

District: Turnpike Counties: BROWARD, MIAMI- Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

DADE, PALM BEACH, Project(s): 44888617203 (*)

Contract Descr: Pavement Edge Silt Removal - Zone 1

The work specified in this contract consists of providing all labor, materials, equipment, and incidentals necessary to perform routine silt built-up removal underneath guardrail sections including restoring miscellaneous asphalt and unpaved shoulder restoration next to guardrail sections, at various locations on the Homestead Extension of Florida's Turnpike (HEFT), Milepost (MP) 0.0 to 47.9, Florida's Turnpike (SR 91), MP 0.0X to 100.0, and the Sawgrass Expressway (SR 869), MP 0.0 to 21.8 including ramps, feeder, and connector roads.

NO PRE-BID CONFERENCE WILL BE HELD FOR THIS CONTRACT.

Line No / Item ID Alternate Quantity Item Description Units		(1) SUN EAGLE GENERAL CONSTRUCTION		(2) MIDWESTERN CONSTRUCTION, INC		(3) ROGAR MANAGEMENT & CONSULTING OF FLORIDA	
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	LC Ext Amount
SECTION: 0001	(ASPHALT RE	PAIR (MANUAL) (1	ΓΝ				
0005 0339 1 MISCELLANEOUS ASPHALT PAVE	5.000 MENT TN	2,000.00000	10,000.00	650.00000	3,250.00	461.00000	2,305.00
0010 E575 1 SODDING	25,000.000 SY	7.00000	175,000.00	6.75000	168,750.00	1.51000	37,750.00
0015 E577 70 SHOULDER REWORK	330,000.000 SY	0.66000	217,800.00	0.95000	313,500.00	1.48000	488,400.00
0001 ASPHALT REPAIR S (MANUAL) (TN)	Section Totals:		\$402,800.00		\$485,500.00		\$528,455.00
Contract G	rand Totals:		\$402,800.00		\$485,500.00		528,455.00



Florida Department of Transportation



Tabulation of Bids

Page 2 of 3

Letting:	08250909	September 09,	2025 Cal	II Order: 004		Contract:	E8W52-R0			
Line No / Item ID Alternate Quantity Item Description Units		Quantity	(4) T & M LAWN-FENCE SERVICE INC							
() indicate	es item is bid as Lump Sur	n	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount		
SECTION: 0001 (ASPHALT REPAIR (MANUAL) (TN										
	39 1 NEOUS ASPHALT PAV	5.000 EMENT TN	3,000.00000	15,000.00						
0010 E5 SODDING	75 1	25,000.000 SY	15.00000	375,000.00						
0015 E5	77 70 R REWORK	330,000.000 SY	0.60000	198,000.00						
0001 ASPHALT REPAIR Section Totals: \$588,000.00 (MANUAL) (TN)										
	Contract (Grand Totals:		\$588,000.00						



Florida Department of Transportation

09/17/2025

Tabulation of Bids

Page 3 of 3

Letting: 08250909

September 09, 2025

Call Order: 004

Contract:

E8W52-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.